L R
Ky  GB67-85 Q"

M3x8

A 13-2022
752007 < O SEL oo
GB67-85(A) ‘| Max12 ®
M3x12 A\.GB67-85 /2 GB67-85(A)
& AN \ & Maxg & >
g fe e =
3 & 9 _ ‘;‘ -
« GB67-85 . : 3
GB67-85 13-2027 6 M4x6 /c % f
M4x6 86
Q)
132017 P~ [13-2015 f

GB896-86 <> -
C. | [z20ig o0 3

13-2008

GB67-85(A)
M4x8




¥ '5INO.| FEAF5/Code# TR Parts name BEHE
13-2001| EPX7ZY-2-004 JEK JBE 1
13-2002 VAL 1
13-2003 PRPS: 22 1
13-2004 HE )i 4 JR 1
13-2005 | EPX7ZY-4-003 /NG 4
13-2006 PEUREERY Bl 1
13-2007 2 1F [ s 1
13-2008 | EPX7ZY-2-007 Jil Jet 1
13-2009 HAOLH (D 1
13-2010| EPX7ZY-2-005 JE iR 1
13-2011 HL25 1
A JER110V
1372012 AR 528220V !
13-2013 | EPX7ZY-2-006 HII 5% 1
13-2014 R i 1
13-2015 Kid#e 1
13-2016 | EPX7ZY-4-010 Nk E 1
13-2017 | EPX7ZY-4-002 [ii] s i 4
13-2018| EPX7ZY-2-003 W AR AT S A 1
13-2019| EPX7ZY-1-003 2 A Tl 1
13-2020| EPX7ZY-4-008 HE it 1
13-2021 /INE 2 A 1
13-2022 25 A 1
13-2023 | EPX7ZY-4-018 HE e 1
13-2024 2IFE & 88 1
13-2025 [ EPX7ZY-1-002 EREA 1
13-2026 | EPX7Y-4-004 H L% 2
13-2027 | EPX7ZY-2-008 M HL 4 1
13-2028 SR 2
13-2029 U A A i 1
13-2030 HAOLH B 1
13-2031| EPX7ZY-2-001 SR 1
13-2032 HHARR R 1
13-2033 | EPX7ZY-1-004 JE AU 5 1
13-2034 | EPX7ZY-1-014 TR 1
13-2035 HEAUR 5 1
13-2036 HLHL25W 1
13-2037| EPX7ZY-3-016 HLAL A 2D 5 1
13-2038 ISR 6
13-2039 | EPX7ZY-4-001 T 6
13-2040 | EPX7ZY-2-001 SR A 1
13-2041 o3 B AT hr 3 1
13-2042 53 B KT 1
|7 5INO.] Z{5/Codet | eI A Parts name | B6HE




13-2043 | EPXZY-3-011 o) B 1
13-2044 | EPXZY-2-002 X 4R 1
13-2045 | EPXZY-4-007 NS 3
13-2046 | EPXZY-3-015 KIFEDE 1
13-2047 NP2 1
13-2048 | EPXZY-3-012 Peakihsp 1
13-2049 P YR A s 3 1
13-2050 | EPXZY-1-013 il 1
13-2051 | EPXZY-3-014 INERE 1
13-2052 | EPX7ZY-3-013 | /ME4tis (3D 1
13-2053 | EPX7ZY-3-001 | FHF4tzstn (D 1
13-2054 | EPXZY-2-017 Fir # /MR 2
13-2055 B 2
13-2056 e 2
13-2057 | EPXZY-3-006 HEAIR 1
13-2058 | EPXZY-2-015 PEARIH AR A 1
13-2059 | EPXZY-2-015 PRI TR 1
13-2060| EPXZY-4-015 gt 1
13-2061 | EPXZY-3-019 BLACTT b 1
13-2062 | EPXZY-3-017 BRECTT IS B AR 1
13-2063| EPXZY-2-016 AN 1
13-2064 | EPXZY-2-016 AN Vin 1
13-2065| EPXZY-3-007 HEAUHR T 5 5 1
13-2066 | EPX7ZY-3-009 2 IFFEACIIAR 1
13-2067 | EPX7Y-3-008 2IFFE4R R 1
13-2068 | EPXZY-1-001 N 1
13-2069 | EPX7Y-3-010 2 IFFE4R AR 1
13-2070 25 Y 1
13-2071 | EPXZY-3-002-A Fin A 1
13-2072 | EPXZY-3-002-B 555G 1
13-2073 21F LR R AR 1
13-2074 WA 1
13-2075 TR 1
13-2076 Sha a4l 1




13-2102

GB67-85(A)
M4x8

Table (A)

13-2101

13-2103

>

13-2118

GB896-86
26

13-2106

13-2111

13-2104

13-2108

13-2113

13-2114

13-2

3-21 17

/\/

13-2116

T

M3x8

2  M4x8

13-2102

13-2205

13-2106

GB67-85(A)

13-2105

13-2110

13-2203

13-2115

13-2112

13-2113

Table (B)

GB67-85(A)

13-2101

13-2103

13-2202

13-2204

GB67-85(A)

M3x8

-

13-2116

13-2110

13-2115

13-2114




Table(A)
F5INO.| ZAf5/Code# EICTF N Parts name BSEHE
13-2101 0-016 AR 2 AR 1
13-2102 il 3
13-2103 ERLET 2
13-2104 016- b RARTRT AR (21F) 1
13-2105 015 AR (21F) 1
13-2106 P28 P 1
13-2107 CIES 1
13-2108|  4-009-1 JE s A IR 1
13-2109 4-009 JE RENIEE 1
13-2110  2-016-X R ARE S R 1
13-2111 2-027-X K2z (21F) 1
13-2112 0-015 TR TR 1
13-2113 [F 45452, 5X10 1
13-2114 2-017 AR A 1
13-2115 2-019 N EIREEEPN 1
13-2116 2-028 PALEE 1
13-2117 B 1 T 1
13-2118 B T L 1
Table(B)
J#5INO.| FEAF*/Code#t FEA 44 FR Parts name S6HE
13-2101 0-016 AR 2 AR 1
13-2102 il 3
13-2103 IBRET 2
13-2106 Pk 1
13-2107 CIESS 1
13-2108|  4-009-1 JEY AL TN 1
13-2109 4-009 JE HENIEE 1
13-2110(  2-016-X T RAE L B 1
13-2112 0-015 R RAR R bR 1
13-2113 [ k442, 5X10 1
13-2114 2-017 AR 1
13-2115 2-019 NARE ok 1
13-2116 2-028 A 1
13-2201 1-022-X TR AR R (21F) 1
13-2202 1-021-X TR (21F) 1
13-2203 FH22FF (21F) 1
13-2204 AR A il T 1
13-2205 IS AR i 1




	小折页机分解图(改)01
	13小折页机分解表（改）
	小折页机分解图02
	13小折页机分解表（改）02

